
Takeoff distances calculation for a Cessna 150H field elevation 1,114’ temperature 88° F at gross weight 
and flaps retracted.  

Gross 
Weight 

IAS 
50’ 
MPH 

Head 
Wind 

Sea Level & 
59°F 

At 2,500 ft & 50° F 

Ground roll Total to Clear 50’ 
Obs 

Ground roll Total to Clear 50’ 
Obs 

1,600 64 0 735 1385 910 1,660 

Notes from Manual: 

Increase the distance 10% for each 35° F increase in temperature above standard for the altitude. 

For operation on dry, grass runway, increase distance of (both “ground roll and total to clear 50’ 
obstacle”) by 7% of the total to clear 50’ obstacle figure. 

Performance Calculations: 

Ground roll at 2,500 – ground roll at sea level then divide by 2 and add that number to the ground roll at 
sea level which will give you an interpolated estimate of the ground roll under standard day conditions.  
See below   

910 – 735= 175 then 175/2=87.5 then add 735+87.5=822.5 

823’ ground roll standard day 

Then you add the factors for the notes in the Owner’s Manual page 5-3 10% 

823 x 1.1 = 905.3 this ground roll for the above temperature and increase in altitude. 

The 50’ obstacle 

1660-1385=275 then 275/2=137.5+1385=1522.5 distance to clear 50’ obstacle.  

1522.5x1.1=1,674.75’ 

Then you add the factors for the notes in the Owner’s Manual page 5-3 of 7% 

Then the increase for the dry grass runway which add 7% of the 50’ obstacle to both numbers 

905.3+117=1,022.5’ ground roll 

1,675+117=1,792’ to clear the 50’ obstacle 








